WRITE YOUR NAME:

MAP 2302 Quiz 13
Thursday October 17th

Find the general solution of the nonhomogeneous differential e(jua,tion.
v =3 +2y=2z+1

STEP L. Hm‘""j egn 3”"35/-1«25:0 has auy, egn r2—3r+2=o
é(r'l)(f—*Z) =0 7r={ r=2 . "
General Soln of hm?j egn is Y=¢e +C,e .
Ster 2. Find 2 }Omﬁcu(af Soln of +he Novhomeq egn.
Try 3r/l'><+8 -}?3’:/} = U”zo
Plug int DE, Want he-——:%-ﬁ +2(Ax+B) = 2x+ 1

| b” ‘d/ 3
= —~3A+2Ax + 2B = 2X +
24X + (-34+28) = 2x + 1

L 111 g Q2 poo it~ cee
= (i) 24 = 2 —+A=1 plyih (i) ~3+28 =4
(i) -3A+28 = 1 28 =4
B=2
8”7(’}'2 1S apm;icliw

Fina/ answef : ﬂ =, @K + CZQ/%’L X+ 2



